SLERE T

HEBIINEER S 1LY

- ) —

BT

Fi = TF

(P =XARFII1#8 1p 2 112#27 12p) 111.08.03 # * {75c § i1 6
Flp |-z |zl |3 |= € = = =
123 45 6|8P1I0F#RE Y FRMPALIE |28P FHEER R IAGRIPFFHL
7 8 9 10 11 12 13 B 20p 31 P € 17:00 ; F’“?ia@"
1415 16 17 18 19 20| 17B #72 W ERETER - AR 17:50 5 zxp PFRF18:40 5 & 3%+ 3%
19p 374 iERB & & 20:20
o o2 26n s p R fR14005 - (309 B - Zdedd
XEEF T €:%16:30 31p 823035 17:50
1 1 2 3|1PPFHIELESFEY 7 § O6F # ~ (Trcg 3R
214 5 6 7 8 9 10 15319’*%”3%{%456%«*? Op A B1X (P F &)
3112 13 14 15 16 17|20 B IREGR G EREERGE 200 Faog A
418 1920 21 22 23 24|~
5125 26 27 28 29 30 20 BF LR TR RT
5 1 15#%?42@2%" L%L 20-21Fp B = % 1=X fi8 3
62 3 4 5 6 7 g|3-7TPERIBLFRT I 219 5 = S EFF € 3R
719 1011 12 13 14 15 Tzﬂﬁﬂfﬁgia . 24558’3:;?%??2’ EHERPFEY §
-l14p % - XX 4 % 16:
JEEEE Hise w4 b
ZOBEF“‘{%\J,T‘:E@?J)Ngi
10 {30 31
10 1 2 3 4 5|1PPHIRLESFE* 2 & 22p FFc € 3R
6 7 8 9 10 11 12f TF 12 & & 55 L3 ReFEHE S | 250 ¥k = ~
12013 14 1516 17 18 19] T FREEE
13120 21 22 23 24 25 26| SP X TG
11p i3 IRiEH €
14 (27 28 29 30
14 1 2 3|IPpPpHIELESREY v § 13-14p & = %20 ik Y
154 5 6 7 8 9 10|6F #H~ (7rcg 3 14Mﬂv‘%gv:sﬁ§]»§i
1611 12 13 14 15 16 17 ggf_‘_"”—' * “:6;( " g ;gg f*fiif%%%i
AN S 1 ERETAED
525 26 20 25 9 30 0| 127 A A S 289 93 B Uk B 28
91 2 3 4 5 6 7|lpBHE2ELEY 7 8 17-19p #F % ¥
2008 9 10 11 12 13 14|2P HBE- X (L) 19p RSN
21[15 16 17 18 19 20 21| 7P # 1 20P AR 20 p S R
2 23 24 25 26 27 28| 1OF # ﬁi’:gf » 21 R 4
N . i 13pHhxF2Fir€3%
123 4[1pHATEFH S5 &0 14p 4o %4
56 7 8 9 10 11|8P 4~ FrcgdF 16-17p & = %3=x g ¥
1213 14 15 16 17 18| 10P F % & 22p fFFc g A
19 20 21 22 23 24 25| 13 P FEF P £ 17:00 5 Fm%i*f—
N 17:50 ; zxp PFRF18:40 5 & 3% F 3%

20:20




